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1 HAETAREE Ko TR
ERRHEIE = 1 1,000/at
NEREIE x| 1 1,000 fa2
REREIE = 1 1,000 a3
NiERETSE x| 1 1,000 fa4
BERETE = 1 1,000 |a5
BHREIE x| 1 1,000 Ja6
WEISE = 1 1,000/a7
BEREREIE x| 1 1,000 |a8
S A LR x| 1 1,000 a9
2 HEHHIKF K TR
EERBRIE x| 1 1,000/a10
SEERIETS x| 1 1,000/a11
BEHREIE x| 1 1,000[a12
NEREIE x| 1 1,000[al3
WEISE x| 1 1,000/a14
BERERIETE x| 1 1,000[a15
F4E LR x| 1 1,000/a16
EEIEE = 1 16, 000 |Aat+a2+:-+a15+a16)
HoE e X 1 1,000
MIEE X1 17, 00%C=A+B
RiGEEE x 1 [ 1.000D
TER{fh X1 18.000/E=C+D
—REEEE X1 1, 000|F
T EAffit% X 1 19, 000 |G=E+F
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1 HNETKNEE R THRUE
EEREISE :_r_t 1 al error
SEERETSE :_r_t 1 a2 error
EE%EISE :_r_t 1 ad error
NEZELE Ea 1 ad error
BEREIE 2N 1 ab error
FHRBIETE = 1 ab error
BWEISE :_r_t 1 al error
REREERELS = 1 a8 error
FEMNE = 1 a9 error

2 HAEFHKAT R THSUE
EEREISE :_r_t 1 all error
SNEERIEIE :_r_t 1 all error
EEREIE :_r_t 1 al2 error
NEZELE = 1 al3 error
BEIE :_r_t 1 ald error
REBEERETLSE B 1 alb error
FEMNE =t 1 al6 error

BEETEE =® 1 0|A(a1+a2+-+a15+a16)
HEREE x| 1 | E

MTEZE ®x 1 Olc=A+B
HisEHE X 1 jo

TR {fh X | T 0/E=C+D
—REHES = | F

T £l x| 1 0|G=E+F
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